
NOTICE: THE INFORMATION CONTAINED ON THIS DRAWING IS
PROPRIETARY TO VERMEIREN GROUP AND SHALL NOT BE DISCLOSED IN
WHOLE OR IN PART, OR USED FOR ANY DESIGN OR MANUFACTURE,
EXCEPT WHEN SUCH USER POSSESSES DIRECT WRITTEN AUTHORISATION
FROM VERMEIREN GROUP

3998132

SV CERES SE MAIN BASIC Plan No.
EC00324/K

Scale: 1:5 Drafted Verified Confirmed
Date 14/05/2016 07/04/2023 07/04/2023

Initials KZ PM TK
VERMEIREN

1

2A*

3

4

5

6

7

8

9

10

11

12

13

13
14

14

15
16

16

17

18

19

20

21

22

22

23

24 25

26

26

27

28

29 30

30

31

32
33

34

34

34

35

36

37

37



NOTICE: THE INFORMATION CONTAINED ON THIS DRAWING IS
PROPRIETARY TO VERMEIREN GROUP AND SHALL NOT BE DISCLOSED IN
WHOLE OR IN PART, OR USED FOR ANY DESIGN OR MANUFACTURE,
EXCEPT WHEN SUCH USER POSSESSES DIRECT WRITTEN AUTHORISATION
FROM VERMEIREN GROUP

3998132

SV CERES SE MAIN BASIC Plan No.
EC00324/K

Scale: 1:5 Drafted Verified Confirmed
Date 14/05/2016 07/04/2023 07/04/2023

Initials KZ PM TK

26 M6x45 1991017 4
27 12V 38Ah 1909446 2
28 M6x16 1008459 4
29 M8x35 1007516 2
30 M6x20 1006999 6
31 Screw D3.9x16 1005767 2
32 M10x55 1005636 1
33 Nut M10 1001683 1
34 Nut M6 1001680 16
35 Nut M6 1001670 1
36 Washer 1001564 2
37 Washer 1001554 2

No. Plan Article Qty
1 YC04059 1C99204 1

2A* YC02054 1C74704 1
2B* P00057276 2674904 1

3 YC01726 1C56304 1
4 YC01723 1C56004 1
5 YC01722 1C55904 1
6 YC01721 1C55800 1
7 YC01720�DP 1C55704 1
8 YC01701 1C55504 2
9 XC00716 3993272 1

10 XC00715 1C15404 1
11 XC00538 3992261 1
12 XC00452 GC00097 2
13 XC00274 3990732 2
14 XC00179 3990713 4
15 X004436 1903928 2
16 X001016 1001682 4
17 P00051750 2672204 1
18 P00051694 2672304 1
19 Washer 3992610 2
20 --- 3992314 1
21 M8x90 3992232 2
22 Spring 3991958 2
23 Nut M14 3991097 1
24 M6x25 3991095 2
25 --- 3990781 1

2A* & 2B* - depends of batteries type

VERMEIREN


